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1. 999 fUF ol § o 1.  Duck control the :

(A) BIF & TRITIR BT (A) Cotton weed
(B) HIHT & WRUTAR Pl (B) Maize weed
(C) UM & Teil WRUAAR BT (C) Aquatic weeds of paddy
(D) THAYI WUGAR BT (D) Annual weed
2. g & T TUAR ¢ : 2. The main weed of wheat is :
(A) I3 (A) Bathua
(B) WeRd HWIEN (B) Phalarus minor
(C) <9 9™ (C) Doob grass
(D) SWE ¥ | TS el (D) None of the above
3. Wd ¥ YTl BEA b Gl ¥ S drel 3. The plants that grow from the seeds of
i BEdd the previous crop in the field are called :
(A) T (A) Rogue
(B) VeHIcYC WRUTAR (B) Absolute weeds
(C) TI|aH Ul (C) Volunteer plants
(D) SUYd H § I el (D) None of the above
4, ITHR! WIGAR 8 /8 4.  The noxious weed/weeds is/are :
(A) o (A) Kans
(B) Td 9™ (B) Doob grass
(C) <leH (C) Lantana
(D) Sugad FI (D) All of the above
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5. MR B TIE H HIHRY BIT o

(A) 05 gfaerd
(B) 0.25 Hfaerd
(C) 0.75 Yfcrerd

(D) SW& H W PIg T

6. 9gauId WUAAR B /%
(A) <d Hd
(B) Her
(C) &Y
(D) SR T
7. ST S
(A) THD IMHR
(B) OIMI=ING IMHRM
(C) a1 TP
(D) SWa ¥ ¥ I3 T
8. UH B W H WHANRME & JAaRe
YANT $ $E ©
(A)  IMHR T
(B) M-I ddh
(C) T W
(D) SUYa H A Bl 7l

Ag-1001 (4)

The amount of phosphorus present in

FYMis:

(A) 0.5 percent
(B) 0.25 percent
(C) 0.75 percent

(D) None of the above

Perennial weed(s) is/are :

(A) Doob grass
(B) Motha
(C) Kans

(D) All of the above

Weed oil is a:

(A) Contact herbicide
(B) Translocated herbicide
(C) Soil fumigant

(D) None of the above

The systematic application of herbicide in
a particular field is known as :

(A) Herbicide application

(B) Herbicide rotation

(C) Root application

(D) None of the above

Set-C



10.

11.

12.

™ STel ST T arenl fafer

(A) BRI Riarg
B) fyu R
(C) W Riarg
(D) STda # | Big AL

BTN TWRT IHIfdd 919 ©

(A) A BT

(B) ICSIRT &I

(C) IR

(D) STdad # & Big AL

qalz & G WIe g dI6l BT Q-1 Sl
PEA &

(A) THD FRATH

(B) UCTl WU

(© (A) 3R (B) T

(D) SWa ¥ ¥ IS T

WU T TF R
(A) TR IRE

(B) IZgc TSN SdRd

(C) JMHIFRITRI-Tggc EEI SIRD

(D) SUYa H A Bl 7l

Ag-1001
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10.

11.

12.

The maximum water use efficiency is

under the method :
(A)
(B)
(©)
(D)

Sprinkler irrigation
Drip irrigation
Surface irrigation

None of the above

Achyranthus aspera is a botanical name
of :
(A)
(B)
(©)
(D)

Jawasa
Latjeera
Satyanashi

None of the above

The drilling of seed and fertilizer together
while sowing is called :

(A)
(B)
©)
(D)

Contact placement
Band placement
Both (A) and (B)

None of the above

CANisa:

(A) Ammoniacal fertilizer
(B)

(©)

Nitrate nitrogen fertilizer

Ammoniacal-nitrate nitrogen
fertilizer

None of the above

(D)

Set-C



13.

14.

15.

16.

gl @ foly Maedd JeH UNd dd &/ -

(A) e

(B) T

(C) TH®

(D) (A) 3R (B) <

WS el ¥ e o ) fafy 8/
(A) Toewar fafer

(B) e SRIT a1 feel eRwe
(C) wigs gRm

(D) Suda Wl
SCTFAR BT JINT fobam el &

(A) 9 H

B) TEH

(C) Tofed H
(D) ST T

Wolld WRYTART T 47701 fhar W 2

(A) ST gRT
(B) dfT gRI
(C) BT gN

(D) SUga Il gRT

Ag-1001
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13.

14.

15.

The essential micro plant nutrient(s) is/are :

(A) Iron (Fe)
(B)
(©)

(D)

Chlorine (CI)
Sulphur (S)

Both (A) and (B)

Method(s) of top dressing is/are :

(A) Broadcasting
(B) Spot dressing or Hill placement
(C) Side dressing

(D) All of the above

Butachlor is applied in :
(A) Paddy
(B) Wheat
(©)

(D)

Pulses

All of the above

Aquatic weeds are controlled by :

(A) Drazzing

(B) Chaining
(C) Cutting

(D) All of the above

Set-C



17. & UUS CY§H HIW (I Ud &g aell  17.  The best method of irrigation for root and

waet) @ forg Riens @ S AR & fubers crops
(A) 9. 9. U%, Yol (A) B.B.F.System
(B) NI fafer (B) Border/Basin Method
(C) BN Riarg fafy (C)  Sprinkler Irrigation Method
(D) Tud Riams fafd (D) Drip Irrigation Method
18. 3IGalel & WIS dTell Bud o : 18. The non-leguminous green manure crop
is :
(A) TR (A) Guar
(B) e (B) Lobia
(C) HRorgEl (C) Sunflower
(D) SUYa H § I el (D) None of the above
19. RS MHRN /8 - 19. The selective herbicide(s) is/are :
(A) 2, 43I (A) 2,4-D
(B) TSIH (B) Nitrofen
(C) TgmiM (C) Atrazine
(D) Sugad FI (D) Al of the above

Ag-1001 (7) Set-C



20. ¥GI QY |AE® §/T :
(A) A
(B)
(©) (A) 3R (B) 3
(D) STda # | Big AL

21. I QU B (HYVs) BRIHA F& Tal :

(A) 1966 H
(B) 1977 ¥
(C) 1980 #

(D) 1990 H

22. fdwa @ fiaw A S @
(A) 1T &
(B) 2 3ACA B
(C) 16 3ATHR B

(D) 10 ¥/ @I

23, FRU (@REP) B
(A) oI STS-ORefid)
(B) deoTs-Ruild!
(C) ia: T Rl
(D) e TRl

Ag-1001
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20.

21.

22.

23.

The soil amendment(s) is/are :
(A) Gypsum

(B) Lime

(C) Both (A) and (B)

(D) None of the above

High vyielding variety programme started
in:

(A) 1966

(B) 1977

(C) 1980

(D) 1990

The World Food Day is celebrated on :

(A)  1June
(B) 2 October
(C) 16 October

(D) 10 March

Orobanchy isa:
(A) Completely root parasite
(B) Semiroot parasite

(C) Completely stem parasite

(D) Semistem parasite

Set-C



24,

25.

26.

217.

Tt ERuqaRAEN B /8
(A) TM TH-34

(B) AT IRiHe

(C) WRrade

(D) Suda Wl

el & @oll @ @ H Aggior
yfrerd eI B

(A)
(B)
(©)
(D)
BAA B STl AN BT YIIfAd dRA dTelT /
qel FRP 8 /8

6.4
4.9
7.3
5.2

(A) TN

(B) dTgATSA Bl JMTadll
(C) wadl @l forH

(D) SHIE W
Rfarg STer AT AT 7 -
(A) Tl ERT

(B) NE HIeX gNT
(C) URHA T T
(D) ST W

Ag-1001
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24,

25.

26.

217.

Contact weedicide(s) is/are :

(A) Stam F-34
(B)
(©)

(D)

Sodium arsinate
Paraquate

All of the above

Nitrogen percent in groundnut oilcake is :

(A) 6.4
(B)
(©)

(D)

4.9
7.3
5.2

The factor(s) affecting water requirement

of crop is/are :

(A)
(B)
(©)
(D)

Temperature
Atmospheric humidity
Type of crops

All of the above

Irrigation water is measured by :
(A) Orifice
(B) Current meter
Parshall flume

(©)

(D) All of the above

Set-C



28. W&l dhad el & UM B HJW el 28. Soil is saturated only near the

3 roots :

(A) BN O A (A) By sprinkler method

(B) El;T:’—éj\_Q’ ﬁﬁﬂ'sf q (B) By drip irrigation

(C) & IR fafer & (C) By check basin method

(D) SUgad JHI (D) Al of the above

29. I &I A DI T B 29. The mainly lossles of soil water

is/are :

(A) AT gIRT (A) By evaporation

(B) SIS R (B) By transpiration

(C) Juerdd 3R 3IT-HAT gRT (C) By runoff and percolation

(D) SUgad JHI (D) All of the above

30. 99 # RiEE @ TEwe do7 arscgel 30. The IW/CPE ratio of paddy is :

3UTd (IW/CPE ratio) 2IdT ® :

(A) 1.0-14(1.2) (A) 1.0-14(1.2)
(B) 0.8-15(0.9) (B) 0.8-1.5(0.9)
(C) 0.4-0.9 (0.6) (C) 0.4-0.9 (0.6)
(D) S # ¥ P (D) None of the above

Ag-1001 (10) Set-C



31. ‘THidead”’ (Agriculture) fbd w91 @1 31. “Agriculture’ word is of which language ?

% g ?
(A Tid (A) Greek
(B) dfes (B) Latin
(C) 3fTon (C) English
(D) % (D) Sanskrit
32, IY-g™ & s & : 32.  Father of Agronomy is :
(A) YR femwioh (A) Peter Decresengy
(B) SI. UH. U, WM (B) Dr. M. S. Swaminathan
(C) Sf. UH. U4, Ui (C) Dr.M.S. Pal
(D) iYicA (D) Jethrotull
33. ‘BN BV gqdvs! fhdre fordl off - 33. The book ‘Horse Hoeing Husbandry’ was
written by :
(A) wided 1 (A) Jethrotull
(B) UrR femah o (B) Peter Decresengy
(C) (A) 3R (B) T A (C) Both (A) and (B)
(D) Suga H A Bl el (D) None of the above
34, I-fIs HT &5 GHEE B 34.  The scope of agronomy is a solution of :
(A) MR~ @l (A) Foodgrains
(B) AR B (B) Fodder
(C) X3 (@) @ (C) Fibre
(D) SUYa |4l B (D) All of the above

Ag-1001 (11) Set-C



35.

36.

37.

dIST BT YT Sd BRA BT A -

(A) dIST DT & (%)

g 91 &1 ¥R

B 93 @ fag ot $1 9R ©100
(B) dIST @I &l (%)
T @1 R
B IE T BT AR “10
(©) (A) 3R (B) 3
(D) STda # & Big AL
dIST BT R A ST DR BT I ¢ -

FHIUT gfaera

(A) ———————>100

g a1 sfaera

BRI op X TLEAT o

(B) Idfd®d AN =
100
gl g
(C) drfdd A -

(D) SWa ¥ ¥ I3 T

150 Ufd9Id BOA 9% FUAAT BT B

b B
(A) G-I

(B) WRa-TRE-& We-g

(C) HT-FRIR-SaR-3REN

(D) SUYa H A Bl 7l

Ag-1001
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35.

36.

The formula of purity of seed is :

(A) Purity of seed (%)

_ Weight of pure seeds

100
Weight of sample

(B) Purity of seed (%)

_ Weightof sample X100

W eight of pure seeds

(C) Both (A) and (B)

(D) None of the above

The formula of real value of seed is :

Germination %
(A) X100
Purity %

(B) Real value

Germination % * Purity %

100

Purity %

(C) Realvalue =

Germination %

(D) None of the above

The crop rotation of 150% crop rotation

intensity will be :

(A) Paddy-Wheat-Sugarcane

(B) Follow-Mustard-Green ~ Manure-
Wheat

(C) Paddy-Lentil-Jowar-Arhar

(D) None of the above

Set-C



(©)

(D)

(A) 3R (B) &I

ST U B T

39. Tl qADIH BT § -

(A)

(B)

(©)

(D)

T B U + - Bl U

B Sifdd KUl /Tl DI U
T B IS /Gl D U

Swad # ¥ Plg T

40. WS (GM)-TT B I H qo=dr

foram fcrera grft ?

(A)

(B)

(©)

(D)

Ag-1001

200 gfarerd

100 e

150 e

50 gfcrerd

(13)

The multiple crop rotation(s) is/are :

(A) Maize-Toria-Wheat-Mung

(B) Green manure-Sugarcane-Ratoon

(C) Both (A) and (B)

(D) None of the above

Harvest Index (HI) is :

(A) Grain yield + Straw yield

(B) Total biological yield/Grain yield

(C) Grain yield/Total biological yield

(D) None of the above

What will be the rotation intensity of

Sunhemp (GM)-Sugercane crop rotation ?

(A) 200%

(B) 100%

(C) 150%

(D) 50%

Set-C



41, 3s. ). T R Red 2 41.

(A) TGTS ¥
(B) ®HMER H

©) T A
(D) % fowell ®

42. TWUHE: 42

(A) 9gaYN TRUTIR
(B) fead TRUqaR
(C) TUHAYT WUGAR

(D) SWH # W B &l

43. O B @ UMl H e W Ul b 9y 43,

H U9 B8 9 Bl §, a1 S9 fawq @l

T P B °

(A)  gTaver
(B) T wd
(C) . 3R aME. o

(D) SWad # | BIS T

Ag-1001 (14)

ICAR is located at :

(A) Lucknow

(B) Kanpur

(C©) Mumbai

(D) New Delhi

Doob grass is a/an :

(A) Perennial weed

(B) Biennial weed

(C) Annual weed

(D) None of the above

What is the stage called when the head is

closed with the apical (topmost) leaf in

the plants of the Poaceae family ?

(A) Flowering stage

(B) Boot stage

(C) CRIlstage

(D) None of the above

Set-C



44. BRSBTS : 44. Hydrillais a/an :

(A) TSI GRUYGAR (A) Emerged weed
(B) STefHI WRUAAR (B) Submerged weed
(C) UM & T8 W R dTell WRUTAR (C) Floating weed
(D) SWE ¥ | FIg el (D) None of the above

45, QREH 99 BT gAeIE Bl fd gofa 45.  Which species of rhizobium culture is

& T & START e & ? used to inoculate the soybean seeds ?
(A) SAHTEH (A) Japonicum
(B) IYHHNIRA (B) Leguminosorum
(C) WRYITS (C) Phaseoli
(D) SUYa H H IS Tl (D) None of the above
46. SIRI feerot @1 A 46. Meaning of zero tillage is :
(A) el At (A) Deep ploughing
(B) T4 SATE & WY qaTg (B) Direct seeding without tillage
(C) P TR (C) Cross harrowings
(D) SUYa H A Bl 7l (D) None of the above

Ag-1001 (15) Set-C



47. Plog DURTST B [aRT W ajﬁ[ ¥ UM 47. At field capacity water in soil holds

ST V& & between :

(A) 013 03 3R (A) 0.1to 0.3 bar

(B) > 04 dR (B) >0.1bar

(C) 15 4R (C) 15 bar

(D) 31 dR (AgHUSCI <) (D) 31 bar (atm. pressure)

48. TH W LE] T TUERE § JH P 48. The maximum amount of moisture that

ifedq AT HT HET 9T § will be held in the pores of a saturated

soil is known as :

(A) TT6l RO & (A) Water holding capacity
(B) & &l (B) Field capacity

(C) M fa=g (C) Wilting point

(D) W 3raver (D) Saturation

49, THH IHR b g6l Bl 9 Bl TN 49. The depth of seed sowing of medium size

S seeds is :

(A) 5-8 . (A) 5-8cm

(B) 2-3 I (B) 2-3cm

(C) 3-5 I, (C) 3-5cm

(D) SUYa H A Bl 7l (D) None of the above

Ag-1001 (16) Set-C



50. Sil @I qaTg I Sfed Oy 7 50. The proper sowing method of barley is :

(A) focadl fafy (A) Broadcast
(B) T BA @ UW (B) Behind the Desi plough
(C) {Is f$d g™ (C) By Seed drill
(D) TSR gRT (D) By Dibbler
51. A 3GR0 W Ud 8IS o<1 deadl o - 51 The hoeing before a crop emerge is
known as :
(A) URMEH qUREHRIT (A) Primary tillage
(B) 3 Terg (B) Blind hoeing
(©) R e (C) Zero tillage
(D) SWE ¥ | TS el (D) None of the above
52. ¥ Bl 3ATgARICE g8 H G HEed] 52.  Ploughing of land in isolated bunds is
Y called :
(A) g feew (A) Strip tillage
(B) WIRI feolw (B) Zero tillage
(C) (C) Lay-by
(D) T YURH (D) Clean tillage
53. 3Tl dlell Beell & dll @ forg few  53. Which culture is used for cereal crop
SR B JANT febar ofrer & 2 seeds ?
(A) TSI (A) Rhizobium
(B) Tullelddey (B) Azotobactor
(C) . T (C) BGA
(D) Teirell (D) Azolla

Ag-1001 (17) Set-C



54,

55.

56.

Ag-1001

BIRBIRA DI DAl DT G 0T & 54,

(A) I ORI @ TS R
(B) RFI URTl &1 1 Wl Ug S
(C) i uferat &1 T S B o
(D) T gkl @1 T Yol U ST

MR B TS H BEpRA IRGI & {55,

AT AT B8l @
(A GTder

(B) WWIE-SRE fA8107
(©) (A) 3R (B) <
(D) SWYad # | BIg T2

fbl ScRep! H AT U Tal (N+P+K) 56

B AT (%) BT AT 25-35 TH 1T Il
g ?

(A) MR A SaRB

(B) ST AU IRD

©) = I SR®

(D) SWad # | BIS T

(18)

The main symptom of phosphorus

deficiency is :

(A) Purple color of older leaves

(B) Yellow color of older leaves

(C) Purple color of new leaves

(D) Yellow color of new leaves

Addition of some part of phosphorus

fertilizers in FYM is called as :

(A) Reinforcement

(B) Manure-fertilizer mixture

(C) Both (A) and (B)

(D) None of the above

In which fertilizers the sum of the

quantity of all the three major nutrients

(N + P + K) is found upto 25-35% ?

(A) Medium grade fertilizer
(B) High grade fertilizer
(C) Low grade fertilizer

(D) None of the above

Set-C



S7.

58.

59.

60.

Ag-1001

g WE A AWM /8 57.

(A) ¥aI ¥ Sfarer yamef &1 gga1
(B) &I H UNG Tl @l gig
(C) 9T U8 Bl AR

(D) Suded wHl

B BT STl GNT GIfad Bl 2 58.

(A af g™

(B) Sleldig gIT
(C) UMl & T[T UG FHYT AT §IRT

(D) Suda Wl

RaTg @1/ Je1 I 2/ 50.

(A) &1 |8 Bl Gelrdd T
(B) Sfd € siggRor &

(©) Ui @ Sfua gfg @ forg
(D) SHIE W

To@HYT ol B FE & - 60.

(A) A Slel

(B) Wgad SId
(C) dI¥TS qrex

(D) SWa ¥ ¥ IS T

(19)

Advantage(s) of green manuring is/are :

(A) Addition of organic matter in soil
(B) Increased nutrients in soil
(C) Protection of soil surface

(D) All of the above

The water requirement of crop is affected
by :

(A) Soail

(B) Climate

(C) Characteristics of plants and inter-
culture operation

(D) All of the above

The major objective(s) of irrigation

is/are :

(A) To make soil surface soft
(B) For proper seed germination
(C) For proper growth of plants

(D) All of the above

Gravitational water is also called :
(A) Free water

(B) Combined water

(C) Bound water

(D) None of the above

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE &RM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok a0l Heger
B o SHT T BT START BRAT afoid 8 |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8
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